
Dane: 

𝑊 = 4,33 𝑒𝑉 = 4,33 ∗ 1,6 ∗  10−19 𝐽 = 6,926 ∗ 10−19 𝐽  

𝑣 = 1,5 ∗ 1015 𝐻𝑧 

𝑐 = 3 ∗ 108  
𝑚

𝑠
 

ℎ = 6,63 ∗ 10−34 𝐽 ∗ 𝑠 

𝑚𝑒 = 9,11 ∗ 10−31 𝑘𝑔 

𝑝𝑓 = ? 

𝑝𝑒 = ? 

 

Ad. A 

𝐸𝑓 = 𝑊 + 𝐸𝑘 

𝐸𝑓 =  𝑝𝑓 ∗ 𝑐 

𝑝𝑓 ∗ 𝑐 = 𝑊 + 𝐸𝑘  

𝑝𝑓 𝑚𝑖𝑛 ∗ 𝑐 = 𝑊 + 0 

𝑝𝑓 𝑚𝑖𝑛 =  
𝑊

𝑐
  

𝑝𝑓 𝑚𝑖𝑛 =  
6,928 ∗ 10−19𝐽

3 ∗ 108 𝑚
𝑠

= 2,31 ∗  10−27𝑘𝑔 ∗ 
𝑚

𝑠
  

Ad. B 

𝐸𝑓 =  𝑝𝑓 ∗ 𝑐 

ℎ ∗ 𝑣 =  𝑝𝑓 ∗ 𝑐 

𝑝𝑓 =  
ℎ𝑣

𝑐
 

𝑝𝑓 =
6,63 ∗ 10−34 𝐽 ∗ 𝑠 ∗ 1,5 ∗  1015 𝐻𝑧

3 ∗ 108 𝑚
𝑠

 

𝑝𝑓 = 3,315 ∗ 10−27𝑘𝑔 ∗ 
𝑚

𝑠
 

𝑝𝑓 ∗ 𝑐 = 𝑝𝑓 𝑚𝑖𝑛 ∗ 𝑐 + 𝐸𝑘 

𝐸𝑘 =  
𝑚𝑒

2𝑣2

2𝑚𝑒
 



𝑝 = 𝑚 ∗ 𝑣 

𝐸𝑘 =  
𝑝𝑒

2

2𝑚𝑒
 

𝑝𝑓 ∗ 𝑐 = 𝑝𝑓𝑚𝑖𝑛 ∗ 𝑐 +
𝑝𝑒

2

2𝑚𝑒
 

𝑝𝑒 =  √(𝑝𝑓 − 𝑝𝑓𝑚𝑖𝑛) ∗ 2𝑚𝑒𝑐 = 7,4 ∗  10−25 𝑘𝑔 ∗ 
𝑚

𝑠
 

 


